
Abacus Trainer 2 ~ (Transposed_Ans83)

01. 784 - 487 = 297

02. 354 + 453 = 807

03. 813 - 318 = 495

04. 182 + 281 = 463

05. 924 - 429 = 495

06. 374 + 473 = 847

07. 984 - 489 = 495

08. 754 + 457 = 1211

09. 461 - 164 = 297

10. 681 + 186 = 867

11. 391 - 193 = 198

12. 348 + 843 = 1191

13. 742 - 247 = 495

14. 463 + 364 = 827

15. 683 - 386 = 297

16. 592 + 295 = 887

17. 281 - 182 = 99

18. 863 + 368 = 1231

19. 542 - 245 = 297

20. 312 + 213 = 525

21. 958 - 859 = 99

22. 136 + 631 = 767

23. 693 - 396 = 297

24. 467 + 764 = 1231

25. 756 - 657 = 99

26. 973 + 379 = 1352

27. 231 - 132 = 99

28. 927 + 729 = 1656

29. 891 - 198 = 693

30. 284 + 482 = 766


